AN INVENTOR STRUGGLING TO MAKE ENDS
MEET

1. A fidget spinner can cost as
much as $900ifitis...
a) arare edition
b) gold-plated
c) the advanced model

2.Catherine Hettinger is....
a) an engineer.
b) a housewife.
c) an entrepreneur.

3.Which sentence about Catherine Hettinger is true?
a) She didn’t know what to do with her invention.

b) She quickly stopped thinking about the toy.

c) She tried to get her invention produced.

4.An extra $400 would have ...
a) publicized the invention.
b) allowed production to start.
c) protected the inventor’s rights.

5.The TV expert says that renewing a patent ...
a) is very expensive.
b) is a question of remembering to do it.
c) requires the use of a database.

6.Catherine Hettinger is said to be ... about what has happened.
a) not worried
b) upset
c) furious
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